What you will learn about:
Solving Quadratics by Square Roots .
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What you will learn about: :
Solving Quadratics by Completing the Square
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Complete the square to make it a perfect square
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D) &=l .
(P 14x+44 2 12y
9) o-velie and YT x:L 3 g t?cﬂ
Arvide oy X (%% 7) (\/ 1-(45

3,) &i'uart- AN Swer

. #
in Step ¥ A ¢ A
a“ = 20a +/lob b —4b 4 ‘1

L nG (b-2)°

C&\" o
2l ; s
w?— 9u + ] m-—S5Sm *+ 2"-'1“
b !
( ! G .S)
w3 m= a

Pl

p2+%p ']"}(‘( q‘—?q-]-"ﬁ-

(p+ Tl‘jL (4- 91

7|Page



Solve by Completing the Square

Solve x2 + 8x = 48 by completing the square.
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Solve d“ + 10d = =Y by completing the square.
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yhﬁy+ﬁ =1l +4

(y-3) =as 145 9
Y-52t8 e
y=3t§

=05

8|Pag



5
lHLf

L OO, (O
Tyt Ty

Solve r* —4r = 12 by completing the square
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Solve x% + 4x = —21 by completing the square.
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Solve x>+ 10x +4 = 15 by completing the square.
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Solve n? =3n+11 by completing the square.
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